AXHRERSR  WATEANEER - AU ERSAERRIHHE [#E | —8— 46 -

B 8% = ARBHBEEMBEER

FIY BTG TN B 7 — P 1 A5 22 7 7 FREr it B %K B it HD S 25 P (2
BB ATHT) i RAG & AT A0 — il 0 % BRI AR A2 o R
REF 717 5 P 5 B ES AR ST [R5 B — B A S £k — P Y & i HT AR —
OB -

A, ARBITHRELABZSENLEERERE

T A R R A AR B A A S (R R R TR R 84 29k
M R 275 5 U B R B A 04 B 71 75 571 45 7 9 A A 5 B 1 B LA (A B 1R 1
Al > LIS R (AR B 1 2 7R 20204E9 A 30 H 884 » HAARZ H BOAS A I HEA AN EAS A
EHER AT R THEHIZE -

AEE AT B BRGSO EE T ERERMERBY Em % > Hb
JAHARBENEE  oR 0 BE T S {1 5 [ 4 58] 2 710 202049 A 30 H ST T R A€ H 9 52 1%
AN A NG AR & A TE SR HE

R2020F
1R2020%F 9A30H
9A30H NGTE 7PN R2020F9A308
ONCIE 2PN EfEREET KATEE AES
EEAKE [REIN  HEZERE BRALEEE
REARE ftat HREEW SHERS
EWEERE (REIFE BERE BRERFE
ANRETFE  AREFLT  ARETFL AR ¥ T
(Hf#1) (Hf7#2) (Hf73) (Hf74)
URIAECE 3fadie
(ERIGEEE T [206,407] (RE] [RE [(RE] [RE]
URIAECE 3fadie
[ERIEREE T [206,407] [R5 LY LY LY
URIAECE 3fadie
[ERIEEE TR [206,407] (RS (RE LY LY

-1I-1 -



AXHRERSR  WATEANEER - AU ERSAERRIHHE [#E | —8— 46 -

B 8% —

2

3)

C))

(5)

202049 H30H » AN Al b s A A EAL AR B E 45 4 F B & A 15 (H 55 712020479 H30 H 11
AN E A NG R gt B R H257,018,00070 (KEF0 4 A S04 B % — & 5t Bl 5
B2 202049 A 30 B 1y HAth #E T8 & B A K H#40,900,0007C K PE 2 A R #9,711,00070) ©

(4R EEI A [ R EBE ] R0 IRIR AR SR (AR BE 1 T - (MR BE1E T R BT (REHNBRA L A
B[4 R 22 0 S AR BR B S2) RESAS - MEAS T L2 IR 4 B ) AT o 1 8 6 47 1A A AT i
i e

ARG T 25 KT G IR AR B A T B S KGR b SRR 2 vl 0 i B 4% > ARAR AR SR (4R
F1C120204F9 A 30 H 5 il 847 (A BB Ay 5t B AS > M R SR B (4% BE1HO AT (8110 AT fiE
& B AT Ay o

MABETREISAEAREEFEHBERNS > UAREESMEREEARH1.00005
1.1956%5 Jo 11 RE 30 B A4 e -

Slf 08 36 o KT w4 7% A O R AR S A T S T (R R DL AR SR R 202049 H 30 H AR 1Y
L5 5 & R BT AT Y oAb SZ 5

-1I-2 -



AXHRERSR  WATEANEER - AU ERSAERRIHHE [#E | —8— 46 -

B 8% = ARBHBEEMBEER

RS

- 1II-3 -



AXHRERSR  WATEANEER - AU ERSAERRIHHE [#E | —8— 46 -

B 8% = ARBHBEEMBEER

RS

|



AXHRERSR  WATEANEER - AU ERSAERRIHHE [#E | —8— 46 -

B 8% = ARBHBEEMBEER

EZES

—1II-5 -



